S = HiEE = A F A L

(1) 23—RAHZA A
7H 31 H
(EHERE) HEREE7:20= CGIfrn&E 503 7%5) =JREIL9 : 24
SESEEIL9 : 59=11: 08 A ILUBR 11 : 20= (Fr—7 L H—) =11:27 %4
P11 52= (NLIUEEANR) ==5 12 : 41 % (BR)

(T4 A &)

=4 (2,420m) 13 :30=>14 : 35 LRI D (BER%) 14 : 36914 : 44 B
B 14 : 48=14 : 55 ¥k i a (BEs%) 15 : 00=>15 : 50 L1l (2,831m) :
55=16: 30 & (LKL IUAFZ2RT 16 - 40=>— Dk LiE (2,705m) 17: 27 % (1A)

S8H1H

— DML 6 : 40=7 : 55 il (&4 3,003m) 8 : 50=9 : 27 Kkl (3,015m)

9:35=9:52 LD (2,999m) 10 : 00=10 : 35 KESyIE 10 : 40=10 :
55 b (2,861m B&) 11 :20=>12 : 40 5L (2,874m) 13 : 10=85E#i1/)
413 :48 7% (1H)

8 H2H

BEIRT/ N 6 1 3026 : 43 E— 7 3% (2,792m) 7 : 20=7 : 30 #HEIRT/NE 8 : 00
=10: 15 FERF Y7510 : 4011 : 08 ESH 11 : 40=12: 06 27 U H
12 : 13> 12 : 25 & (3%) SVEET (2,776.6m) TIX72\,

(FEHERE))

Eh 13 :00= (LIUEEANR) =13:45 ELF13:50= (F—7 L H—) =
13 : 57 SIUBR (BR®) 15:02= (BELEILMR) =15: 15 AlEOBR= (%)
=BMERARE N, Y 1522 % (1A)

(2) =+ UKR—F1
S AEPREICEEN, BERAAE LU =0T L, BICEHIRIEN-T-0
(X HEILNUTE & 2792m B — 27 25 D 360 FERELE L RIILU S OfERLE T LT,
SEY 7Y = —%Fm LRBEICENCZ S1X 20, IRIFEBEAR—~_—XT
B2 E (EHERO =), TR Z/NE (EOHE) THEV L TY HIE U
—AThHHZ L, TLiz, RERFTTINERL, EEEETILITXIE &L
TWET, EIHEY & S O ED I T2 T AR & 37 LEEE -G L £ 5,
(201548 A4 8 H SL: JiMH)



